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Q1) Peter save $ 400 from his salary. If this is 10 % of
her salary, then what 1s his salary?

Q2) 16 % of the apples in a basket go bad. If there are 42
good apples in the basket, find the total number of

apples in the basket?

Q3) In an examination, a student has to secure 45 %
marks to pass the exam. If Paul got 251 marks and
failed by 19 marks, what are the maximum marks?

Q4) On a rainy day, 94 % of the students were present in
a school. If the number of students absent on that day
was 174, find the total strength of the school.

Q5) 40 % of the population of a town are men and 39 %
are women. If the number of children are 12600, find
the number of men.

QO6) If 15 % of 60 1s greater than 25 % of a number by 3,
then find the number.

Q7) Find the number which when increased by 30 %

becomes 39.
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